

1.  $9 + \sqrt{2x-3} = x$ ,  $2x-3 \geq 0 \Leftrightarrow x \geq \frac{3}{2}$

$$\sqrt{2x-3} = x-9$$

$$(\sqrt{2x-3})^2 = (x-9)^2$$

$$2x-3 = x^2-18x+81$$

$$x^2-20x+84=0$$

$$x = 10 \pm \sqrt{100-84}$$

$$x = 10 \pm \sqrt{16}$$

$$x = 10 \pm 4$$

$$x = 14$$

$$x = 6$$

PROVN AV RÖTTER:  $x=14$  VL =  $9 + \sqrt{28-3} = 9 + \sqrt{25} = 9 + 5 = 14 = HL$   
 $x=6$  VL =  $9 + \sqrt{12-3} = 9 + \sqrt{9} = 9 + 3 = 12 \neq HL$

SVAR:  $x=14$

2.  $6x^3 - x^2 - 5x + 2 = 0$   $P(x) = 6x^3 - x^2 - 5x + 2$

PROVN.  $P(1) = 6 \cdot 1^3 - 1^2 - 5 + 2 = 8 - 6 = 2 \neq 0$

$P(-1) = 6 \cdot (-1)^3 - (-1)^2 - 5(-1) + 2 = -6 - 1 + 5 + 2 = 0$

$\therefore x = -1$  ÄR EN RÖT. DIVIDERA  $P(x)$  MED  $x+1$

$$\begin{array}{r} 6x^2 - 7x + 2 \\ 6x^3 - x^2 - 5x + 2 \quad | \quad x+1 \\ - 6x^3 + 6x^2 \\ \hline -7x^2 - 5x + 2 \\ + 7x^2 + 7x \\ \hline 2x + 2 \\ 2x + 2 \\ \hline 0 \end{array}$$

$$\begin{aligned} \therefore 6x^3 - x^2 - 5x + 2 &= \\ &= (6x^2 - 7x + 2)(x+1) \end{aligned}$$

$$(6x^2 - 7x + 2)(x+1) = 0$$

$$6x^2 - 7x + 2 = 0$$

$$x^2 - \frac{7}{6}x + \frac{2}{6} = 0$$

$$x = \frac{7}{12} \pm \sqrt{\frac{49}{144} - \frac{48}{144}}$$

$$x = \frac{7}{12} \pm \sqrt{\frac{1}{144}}$$

$$x = \frac{7}{12} \pm \frac{1}{12}$$

$$x = \frac{8}{12} = \frac{2}{3}$$

$$x = \frac{1}{2}$$

SVAR: RÖTTER ÄR

$$\begin{cases} x = \frac{1}{2} \\ x = \frac{2}{3} \\ x = -1 \end{cases}$$

$$\begin{array}{l|l}
 3. \quad \frac{1}{2} \cos x + \sin^2 x = 1 & 1) \quad \cos x = 0 \\
 \frac{1}{2} \cos x + (1 - \cos^2 x) = 1 & \quad \quad x = \frac{\pi}{2} + n \cdot \pi \\
 \frac{1}{2} \cos x + 1 - \cos^2 x - 1 = 0 & 2) \quad \frac{1}{2} - \cos x = 0 \\
 \frac{1}{2} \cos x - \cos^2 x = 0 & \quad \quad \cos x = \frac{1}{2} \\
 \cos x \left( \frac{1}{2} - \cos x \right) = 0 & \quad \quad x = \pm \frac{\pi}{3} + n \cdot 2\pi
 \end{array}$$

SVAR!  $x = \frac{\pi}{2} + n \cdot \pi$ ,  $x = \pm \frac{\pi}{3} + n \cdot 2\pi$

$$4. \quad 3 + \frac{4}{x} \leq x \quad \frac{(x-4)(x+1)}{x} \geq 0$$

$$0 \leq x - \frac{4}{x} - 3$$

$$0 \leq \frac{x^2 - 4 - 3x}{x}$$

$$0 \leq \frac{(x-4)(x+1)}{x}$$

$x$	-1	0	4
$x-4$	-	-	- 0 +
$x+1$	-	0 +	+ +
$x$	-	-	0 + +
$\frac{(x-4)(x+1)}{x}$	-	0 +	- 0 +

$\overbrace{\hspace{10em}}^{-1 \leq x < 0}$ 
 $\overbrace{\hspace{10em}}^{x > 4}$

SVAR!  $-1 \leq x < 0$  ELLER  $x \geq 4$

$$5. \quad |x+3| + |x-5| = 8$$

$$|x+3| = \begin{cases} x+3 & \text{OM } x+3 \geq 0 \\ -(x+3) & \text{OM } x+3 < 0 \end{cases}$$

$$|x-5| = \begin{cases} x-5 & \text{OM } x-5 \geq 0 \\ -(x-5) & \text{OM } x-5 < 0 \end{cases}$$

$\xrightarrow{x}$   
 $\text{I} \quad | \quad \text{II} \quad | \quad \text{III}$   
 $\quad -3 \quad \quad 5$

I:  $x < -3$  ;  $-(x+3) + (-(x-5)) = 8$

$$\begin{aligned}
 -x-3 -x+5 &= 8 \\
 -2x &= 8-2 \\
 x &= -3 \quad x \notin \text{I}
 \end{aligned}$$

II:  $-3 \leq x < 5$  ;  $x+3 - (x-5) = 8$

$$\begin{aligned}
 8 &= 8 \\
 &\text{IDENTITET!}
 \end{aligned}$$

III:  $x \geq 5$  ;  $x+3 + x-5 = 8$

$$\begin{aligned}
 2x &= 8+2 \\
 x &= 5 \in \text{III}
 \end{aligned}$$

SVAR!  $-3 \leq x \leq 5$

6.  $2\ln(x-1) + \ln x - \ln(x^2-1) = 0$

DEF:  
 $x-1 > 0 \Leftrightarrow x > 1$   
 $x > 0$   
 $x^2-1 > 0 \Leftrightarrow x > 1, x < -1$  }  $\Rightarrow x > 1$

$\ln(x-1)^2 + \ln x - \ln(x^2-1) = \ln 1$

$\ln \frac{(x-1)^2 \cdot x}{x^2-1} = \ln 1$

$\frac{(x-1)^2 \cdot x}{x^2-1} = 1$

$\frac{(x-1)(x-1) \cdot x}{(x-1)(x+1)} = 1$

$\frac{(x-1) \cdot x}{x+1} = 1$

$x^2 - x = x + 1$

$x^2 - 2x - 1 = 0$

$x = 1 \pm \sqrt{1+1}$

$x = 1 \pm \sqrt{2}$   $x > 1$  GER  
 $x = 1 + \sqrt{2}$

SVAR!  $x = 1 + \sqrt{2}$ .

7. a) VISA  $\sin 3x = 3 \sin x - 4 \sin^3 x$

$\sin 3x = \sin(x+2x) = \sin a \cos b + \cos a \sin b$   
 $= \sin x \cos 2x + \cos x \sin 2x = \sin x (1 - 2 \sin^2 x)$   
 $+ \cos x \cdot 2 \sin x \cos x = \sin x - 2 \sin^3 x + 2 \sin x \cos^2 x =$   
 $= \sin x - 2 \sin^3 x + 2 \sin x (1 - \sin^2 x) =$   
 $= \sin x - 2 \sin^3 x + 2 \sin x - 2 \sin^3 x = 3 \sin x - 4 \sin^3 x$   
 v.s.v.

7b)  $\sin 3x = 2 \sin x$

$3 \sin x - 4 \sin^3 x = 2 \sin x$

$\sin x - 4 \sin^3 x = 0$

$\sin x (1 - 4 \sin^2 x) = 0$

1)  $\sin x = 0$   
 $x = n \cdot \pi$

2)  $1 - 4 \sin^2 x = 0$

$\sin^2 x = \frac{1}{4}$

$\sin x = \pm \frac{1}{2}$

$\sin x = \frac{1}{2}$

$x = \frac{\pi}{6} + u \cdot 2\pi$

$x = \frac{5\pi}{6} + u \cdot 2\pi$

$\sin x = -\frac{1}{2}$

$x = -\frac{\pi}{6} + u \cdot 2\pi$

$x = \frac{7\pi}{6} + u \cdot 2\pi$

SVAR!  $x = n \cdot \pi, x = \pm \frac{\pi}{6} + u \cdot 2\pi$   
 $x = \pm \frac{5\pi}{6} + u \cdot 2\pi$

8. VISA  $4^n - 3n - 1$  DELBART MED 9,  $n \geq 2$

$$P(n) : 4^n - 3n - 1 = 9k, \quad k \text{ HELA TAL}$$

$$P(2) : 4^2 - 3 \cdot 2 - 1 = 16 - 6 - 1 = 9 = 9 \cdot 1 \quad \text{DVS DELBART MED 9.}$$

ANTAG  $P(n)$  SANN, VISA  $P(n+1)$

$$\begin{aligned} P(n+1) : 4^{n+1} - 3(n+1) - 1 &= 4^n \cdot 4 - 3n - 3 - 1 = \\ &= | 4^n = 9k + 3n + 1 | = (9k + 3n + 1) \cdot 4 - 3n - 4 = \\ &= 36k + 12n + 4 - 3n - 4 = 36k + 9n = 9(4k + n) \end{aligned}$$

!! DELBART MED 9.

DVS  $P(n) \Rightarrow P(n+1)$

SLUTSATS :  $4^n - 3n - 1$  DELBART MED 9,  $n \geq 2$   
ENLIGT INDUKTIONS PRINCIPEN.

9. VISA  $\binom{n}{k} + \binom{n}{k+1} = \binom{n+1}{k+1}$

$$\binom{n}{k} = \frac{n!}{(n-k)!k!} \quad \binom{n}{k+1} = \frac{n!}{(n-k-1)!(k+1)!}$$

$$\binom{n+1}{k+1} = \frac{(n+1)!}{(n+1-k-1)!(k+1)!} = \frac{(n+1)!}{(n-k)!(k+1)!}$$

$$VL = \binom{n}{k} + \binom{n}{k+1} = \frac{n!}{(n-k)!k!} + \frac{n!}{(n-k-1)!(k+1)!}$$

$$= \frac{n!}{(n-k)(n-k-1)!k!} + \frac{n!}{(n-k-1)!(k+1)k!} = \left| \text{MGN} = \frac{n!}{(n-k)!(k+1)!} \right|$$

$$= \frac{k! \cdot (k+1) + n! \cdot (n-k)}{(n-k)!(k+1)!} = \frac{k \cdot n! + n! + n \cdot n! - k \cdot n!}{(n-k)!(k+1)!} =$$

$$= \frac{n! + n \cdot n!}{(n-k)!(k+1)!} = \frac{n!(n+1)}{(n-k)!(k+1)!} = \frac{(n+1)!}{(n-k)!(k+1)!} = \binom{n+1}{k+1} = HL$$

V.S.V.